

## **KEY LARGO**

### FIRE RESCUE & EMS DISTRICT

P.O. Box 371023 Key Largo, FL 33037-1023 Purchase Order No.

# PURCHASE ORDER =

Vendor			Ship To			
Name	BuyAccess.com online purchase on Chief Credit Card		Name	Key Largo Volunteer Fire Department One East Drive		
Address			Address			
City	St	ZIP	City	Key Largo	St FL	ZIP 33037
Phone			Phone	(305)451-2700		

	em #	Description		Unit Price	TOTAL
2		Alarm Lock Trilogy Networx		\$1,179.06	\$2,358.12
1		Alarm Lock Proximity Access cards (100 pack)		\$299.85	\$299.85
2		Alarm Lock Trilogy Networx Hardwire/Wireless Gateway	Interface	\$465.75	\$931.50
1		Alarm Lock Proximity Reader/Enroller		\$331.88	\$331.88
		nt Details Check Cash Account No. Credit Card se Chief Bock with check from District	Shipp	SubTotal bing & Handling Tax TOTAL	\$3,921.35

Approvals		
Department Head:		
Department Head:		
Finance:		
District Board:		
 Notes/Remarks		
Account #	522.640 Capital Outlay - Equipment	

# BuyAccess.com

# **Shopping Cart**

•	Alarm Lock AL-PRE Provimity Rea	der/Enroller was added to your shopping cart.
0	Product Name	Unit Price Qty Subtotal
	Alarm Lock ETPDNS1G/26DV99 Trilogy Networx Exit	Continue Shopping Update Shopping Cart Copy to Quotation Edit Unit Price Qty Subtotal = \$1,179.06 2 \$2,358.12
	Trim For Von Duprin Advanced Wireless Networking Lock w/ Proximity Sensor	and
	Alarm Lock ALHID13 PDL Proximity Acces Cards (100 Pack)	\$299.85 1 \$299.85
	Alarm Lock AL-IM802 Trilogy Networx Hardwire/Wireless Gateway Interface Me	\$465.75 2 \$931.50
	Alarm Lock AL-PRE Proximity Reader/End	Edit Unit Price Qty Subtotal <sup>=</sup> \$331.88 1 \$331.88 Oller

Grand Total \$3,921.35

Key Largo Fire – Proximity Card Entry Locks for Station 24 and Station 25 (total price for both)

## Shopping Cart



GoKeyless 3646 Cargo Road Dayton International Airport Vandalia, OH 45377 P: (937) 890-2333 F: (937) 890-6166

Qty	Item	Price	Total	Remove
2	ETPDNS1G26DV99 - Trilogy Networx ETPDN PIN/Prox Wireless Access Control Lock by Alarm Lock Touchbar Model: Von Duprin 98/99	1,424.28	2,848.56	
2	AL-IME - Trilogy Networx Gateway - Ethernet Connected	364.28	728.56	
1	AL-PRE - Prox Card Enroller by Alarm Lock	338.00	338.00	
1	ALHID1326-100 - AL-HID1326 Proximity Access Cards by Alarm Lock - Slotted Pack size: 100	261.62	261.62	
Total \$4,176.74				L .

## Amazon.com

### **Shopping Cart**

Items to buy now

Quantity

Price



Alarm Lock AL-HID1326 PDL Proximity Access Cards (100 Pack) - Alarm Lock

\$347.82

In Stock

Shipped from: **BuyAccess** 

Gift options not available (Learn more)

Quantity: 1



Alarm Lock Prox Card Enroller - Alarm Lock

\$354.78

Only 4 left in stock.

Shipped from: Security Hardware Discounters

Gift options not available (Learn more)

#### Key Largo Fire - Proximity Card Entry Locks for Station 24 and Station 25 (total price for both)

Quantity: 1



Alarm Lock AL-IM80211 Trilogy Networx Hardwire/Wireless Gateway Interface Module - Alarm Lock

\$398.86

You save:\$311.14 (44%)

Only 6 left in stock.

Shipped from: Security Hardware Discounters

Gift options not available (Learn more)

Quantity: 2



<u>Alarm Lock ETPDNS1GV99 Trilogy Networx Exit Panic Trim For Von Duprin Advanced Wireless</u> <u>Networking L</u> - Alarm Lock

\$1,339.87

Only 2 left in stock.

Shipped from: Security Hardware Discounters

Gift options not available (Learn more)

Quantity: 2

## Subtotal: \$4,180.06